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General Instructions : 

Preparatory Course in General Mathematics (Revised) (OMT-101) 	Questions 1 - 50 

(i) This is an objective type question paper. Options for the correct answer must be 

marked only in OMR sheet. 

(ii) All questions are compulsory. 

(iii) The question paper consists of 50 questions each of which carries one mark. 

(iv) Each question has four alternatives, one of which is correct. Write the Sl. No. of your 

correct alternative/answer below the corresponding question number in the OMR sheet 

and then mark the rectangle for the same number in that column. If you find that none 

of the given alternatives is correct then write 0 and mark in column 0. 

(v) Do not waste time in reading the whole question paper. Go on solving questions one by 

one. You may come back to the left out questions, if you have time at the end. 

(vi) Use of calculators is not allowed. 
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1. The Roman numeral for 800 is 

(1) CDCC 

(2) CCDC 

(3) CCCD 

(4) DCCC 

2. The value of 9  
16 	4 

+ If Ti. 

(1)  

(2)  

(3)  

3 
8 
5 
4 

3 
4 

 

(4)  

 

37  
4 

3. The value of (10.5)2  is 

(1) 100.25 (2) 1025 

(3) 10.025 (4) 110.25 

4. Degree of the polynomial 3n is 

(1) 1 (2) 2 

(3) not defined (4) 0 

5. The value of x, which satisfies the linear equation 5x — 3b = 7b is 

(1) 2 

(2) 2b 

(3) 3b 

(4) b 

6. If marked price is 380 and selling price is 285, then the discount is 

(1) 10% 

(2) 20% 

(3) 25% 

(4) 35% 
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3. (10-5)2  ITT4 

(1) 100.25 

(3) 10.025 

4. WITiq 37c *I• 1.11c1 

(1) 1 

(3) '9 ATOM 

(2) 1025 

(4) 110.25 

(2) 2 

(4) 0 

2. 

1. 800* 	t-Rselict) 

(1) CDCC 

(2) CCDC 

(3) CCCD 

(4) DCCC 

ri-  11-16 114 Ri 
 

(1) 
3 
8 

(2) 
5 
4 

(3) 
3 
4 

(4) 
V37  

4 

5. x 'WE 117, q)• 1%1-  k.11fichtui 5x— 3b = 7b 	4gE 	t, •4 
(1) 2 

(2) 2b 

(3) 3b 

(4) b 

6. elr< aiikd itv4 380 t aTIK rei5A 	 285*, t ‘d 

(1) 10% 

(2) 20% 

(3) 25% 

(4) 35% 
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89° 

5. The measure of the angle indicated by "?" in the following figure is 

B 

100° 

90° 
D 

A 

7. If cost price of 4 articles is equal to the selling price of 5 articles, then in this 
transaction there is 

(1) a loss of 20% 
	

(2) a gain of 10% 

(3) a loss of 10% 
	

(4) a gain of 20% 

8. Two distinct lines perpendicular to a given line are 

(1) perpendicular 
	

(2) inclined at an angle of 45° 

(3) intersecting 
	

(4) parallel 

9. A quadrilateral with all the sides equal and all the angles equal is a 

(1) square 
	

(2) rhombus 

(3) trapezium 
	

(4) rectangle 

(1) 81° (2) 100° 

(3) 89° (4) 70° 

10. If the area of a triangle is 18x2  sq. cm  and its altitude is 6x cm, then its base is 

(1) 63(2  cm 
	

(2) 12x cm 

(3) 6x cm 
	

(4) 6 cm 

12. The area of a trapezium is 40 cm2. If the sum of its parallel sides is 16 cm, then the 
distance between the parallel sides is 

10 cm 

5 cm 

13.  

(1) 	12 cm (2) 

(3) 	8 cm (4) 

The point (— 3, 0) lies on 

(1) 	y-axis (2) 

(3) 	the line represented by y = x (4) 

x-axis 

the line represented by y = — x 
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(1) (2) 12 

(3) 8 (4) 

(-3,0).Prdt 

(1) y-alAT (2) 

(3) y = xTKT WM.  (4) 

10 X41 

5 	41 

x-aTki tR 

y = — xg(T Aetg 	1:1( 

13. 

7. qc 4 	3-11 T Ovid 1. 	5 -494* rtsisR 41V-i 	t, 	..kT c 1 	.14 t 

(1) 20%  	 (2) 10% 

(3) 10%  	 (4) 20% 

8. 1-url 	 trKA.  t, aTirru 	 

(1) OM 

(3) Mrd-oacrl 

(2) 45°* et) ul 	geA 

(4) imidt 

9. TA-1 GRIGR 	VII Qui eRlelt 	ch0 

(2) Trrigliq.  

(3) 
	

(4) 3TP:rff 

10. PHrrlf ci -al "?" gRI -RaTR TrR Qui - -grrq t 
B 

100° 

r90° 
D " 

(1) 81° 

(3) 89° 

(2) 100° 

(4) 70° 

11. ei WI-13p 	4qtb-  18x2  a4 	t afR w.t.)17114d-A.  6x 	41 t, 4tichi aTrITR t 

(1) 6x2 	41 

(3) 6x 	 

12. .-11:FR 40 	4 2  I -4k 1Tr*t (11-11CR .7T311 cif *TM 16 Alft 	toilck 

TA-1311 . 41t 

A 89° 
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14. If the radius of a circle is doubled, then its area increases 

(1) 4 times 	 (2) 6 times 

(3) 8 times 	 (4) 2 times 

15. The curved surface area of a cone whose slant height is three times its radius r is 
given by 

(1) 671r2 	 (2) 87r2r 

(3) 24ir2r 	 (4) 3nr2  

16. The next number in the sequence 4, 9, 25, 49, 121, ... is 

(1) 129 	 (2) 137 

(3) 169 	 (4) 164 

17. How many pieces, each of length one-third metre, can be cut from a 33 metres long 
wire ? 

(2) 99 

(4) 3 

18. The algebraic expression used for "The square of the sum of two numbers subtracted 
from their product" is 

(1) (a + b)2  — ab 

(2) ab — (a2  + b2) 

(3) ab — (a + b)2  

(4) a2  + b2  — ab 

19. The mean of five numbers is 30. If one of the numbers is excluded, then the mean of 
the remaining numbers becomes 28. The excluded number is 

(1) 28 
	

(2) 30 

(3) 35 
	

(4) 38 

20. x = 5, y = — 2 is a solution of the linear equation 

(1) x + 2y = 7 

(2) 5x + 2y = 7 

(3) 5x + 2y = 21 

(4) 5x+y= 7 
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14. .wK Reit ‘711, t 3tichl 14b-a..4q ■71101 t 

(1) 47T 	 (2) 6 TT 

(3) 8 TT 	 (4) 2 TT 

15. fATI4tt4  	r*t4t4T f t, 	T097FF t 

(1) 67cr2 	 (2) 87-c2r 

(3) 247E2r 	 (4) 37u-2  

16. arT-4 4, 9, 25, 49, 121, ... 	3171d=1 e-it.en 

(1) 129 	 (2) 137 

(3) 169 	 (4) 164 

17. 33 I-ndt 	c 	-cr-fd-Kr- 	 g-+-t cni?. 	kI'4 

(2) 99 

(4) 3 

18. 	tip-4i 	all 	z4lItb" 	 ijui-v-ho A 14e.1411 TRIT t"* 	-5171 Altzf otizich 

(1) (a + b)2  — ab 

(2) ab — (a2  + b2) 

(3) ab — (a + b)2  

(4) a2 + b2 — ab 

19. ITN w.90-011 iTTrFar 30 t I 7rR *-1 • A 	this 	i 1 	i Mid! t, 	A-41 	tit90-11311 

unit 28 t 	t 	e.14 	tit 9,41 

	

(1) 28 	 (2) 30 

	

(3) 35 	 (4) 38 

20. x = 5, y = — 2 rats 	IRson o-11,:nkul   t, 

(1) x + 2y = 7 

(2) 5x + 2y = 7 

(3) 5x + 2y = 21 

(4) 5x + y = 7 
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21. Arvind can complete a work in 18 days. The number of days required by him to 
complete two-thirds of the same work is 

(1) 6 	 (2) 8 

(3) 10 	 (4) 12 

al)  —130  22.  ,, 	A  is equal to 
au + b" 

(1) 0 
	

(2) 1 

(3) 2 	 (4) — 1 

23. Two coins are tossed 200 times and the outcomes are recorded as shown below : 

No. of Heads 2 1 0 

Frequency 40 110 50 

Based on this information, the probability for getting at most one head is 

(2) 1 
4 

(3) 4 
5 

(4) 3 
4 

5 24. The consecutive integers between which — lies are 
7 

(1) — 1 and 0 

(2) 0 and 1 

(3) 1 and 2 

(4) 5 and 6 

25. The product of — ab, a2b3  and — a3b2  is 

(1) —a3b3 	 (2) a6b6  

(3) — a6b6  (4) a3b3  

26. The faces of a tetrahedron are congruent 	  

(1) squares 	 (2) isosceles triangles 

(3) rectangles 	 (4) equilateral triangles 
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21. aR-r4  	18 	4 to who' t 134 	 ctK 	4 34 oil 	c-1 

(1) 	6 

(3) 	10 

a°  — b°  

(2) 

(4) 

(2) 

(4) 

8 

12 

1 

— 1 

GweR a0 + 0 

(1) 	0 

(3) 	2 

23. t km. 	200 art 30101  Aid! atR -ftWft 	TIC 	AR New : 

2 1 0 -Nal *1-  (-kgil 

40 110 50 a1 1t61 Rd i 

1:11:0-41 

1 
(1) 

5 

4 
(3) 

5 

i alTiTR tR, 	 -cr-i Rid al-r4 

(2) 

(4) 

i 	ul 	cbdi t 

1 

3 

24. 5b1-11110 Trk -Ng* #1q.  4 ;-5i- -Pam ', PH 4 4 t: 

(1) — afrto 

(2) ()A 

(3) 1 3Tt 2 

(4) 5 3Tt 6 

25. — ab, a2b3  atiT — a3b2  

(1) — a3b3 
	 (2)  a6b6 

(3)  _ a6b6 	 (4) a3b3  

26. migmbrich 	1-1•Klch 	 t I 

(1) 44 	 (2) 

(3) aTizrff 	 (4) 

TreC4rE RIF 

TowrI-N'F 

22. 
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1 	1 27. If P(A) = 3 — , P(B) — 2 and P(A U B) = —2 , then P(A n B) = 
3 

(2) 1 
6 

(4) — 3 

28. Which of the following is not equal to C(6, 5) ? 

6!  
5!(6 —5)! 

(2) C(6, 1) 

(3) 
P(6, 5) 

5! 

(4) C(6, 0) 

29. M is the mid-point of AB. The co-ordinates of A are (2, 3) and co-ordinates of M are 
(— 1, 0). The co-ordinates of B are 

(1) (4, — 3) 

(2) (— 4, — 3) 

(3) (3, 4) 

(4) (— 3, 4) 

30. 4284" is equal to 

(1) 1°24'11" 
	

(2) 1°22'10" 

(3) 1°20'24" 
	

(4) 1°11'24" 

31. The number of factors of 24 is 

(1) 5 	 (2) 6 

(3) 7 	 (4) 8 

32. The median of the data 15, 5, 9, 3, 4, 11, 9, 3, 0, 11 is 

(1) 4 
	

(2) 7 

(3) 7.5 
	

(4) 9 

(1) 

(3) 

3 
2 

2 
3 

(1) 
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27. 	 2 t P(A n B) = 3.* 
P(A u = , P(B) = P(A)  = 3 	2 

(1) 
3 
2 

(3) 
2 
3 

(4) — 3
2 

28. r-p-ifZiRad A A c) .1-17 C(6, 5)* t.Risik Ref ? 

6! 
5! (6 — 5)! 

(2) C(6, 1) 

(3) 
P(6, 5)  

5! 

(4) C(6, 0) 

29. AB i1Wat-f4--  Mt I A*1-44Tk (2, 3) t at( M f4t4Tk ( — 1, 0)' I 	B * 

1-47& 

(1) (4, — 3) 

(2) (— 4, — 3) 

(3) (3, 4) 

(4) (— 3, 4) 

30. t 4284"* eikicR 

(1) 	1°241 11" (2) 1°22'10" 

(3) 	1°20'24" (4) 1°11'24" 

31. 24* lui-Rgus.  tI~ 	4I 

(1) 	5 (2) 6 

(3) 	7 (4) 8 

32. 344-41 15, 5, 9, 3, 4, 11, 9, 3, 0, 11 At TITrur*1 t 

(1) 	4 (2) 7 

(3) 	7.5 (4) 9 

(1) 
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33. 	11,17i +(-3-F7)-4V77 = 

(1)  4 N/77 

(2)  - 7 

(3)  10 

(4)  - 4 Jr/ 

34. Which of the following needs a proof ? 

(1) A definition 

(2) A postulate 

(3) An axiom 

(4) A theorem 

35. The distance between the points (- 2, 3) and (1, - 4) is 

(1) -Ad 

(2) 2-N/29 

(3) -N/:) 

(4) Nigi 

36. 	Sam is building a dog house. If the length of the base (floor) is 1 metres and the 
breadth is (1- 2) metres, then the perimeter of the base (in metres) will be 

(1)  (4/ - 4) 

(2)  (1- 2) 

(3)  (2/ - 4) 

(4)  (4/ - 2) 

37. If x and y are inversely proportional and k is a constant, then which one of the 
following is true ? 

(1) -x  = k 
y 

(2) x+y=k 

(3) xy = k 

(4) -Y- = k 
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33. 11,F7 +(-3V77)-4,r7 = 

(1) 4,F7 

(2) - 7,fi 

(3) 10 J1 

(4) - 4Nri 

34. PH > 

(1)  

(2)  

rct, 	zErcA*'t ,",(0 	? 

7T trfoTrErr 

Ti  alftgulT 

(3)  1 3.1f1-11-1ft 

(4)  .cr- 	5∎4 

35. (- 2, 3) at (1, - 4)* 4t-q.  	 t 

(1)  /4(1 

(2)  2,,ig 

(3)  50 

(4)  ,,/3 

36. trrre-  T9TER RT1-$T t I -4R aTrtm (9.) 	) t r .T:ETt 1 	a t a t 	(1- 2) i.flzt t, 
aTrtTR 	trft-mq (i-fla 

(1) (41 - 4) 

(2) (/ -2) 

(3) (21 -4) 

(4) (41 -2) 

37. zA x 3T y 	t 3T k 3T-40, t   ? 

(1) = k 
y 

(2) x+y=k 

(3) xy = k 

(4) -Y-- = k 
x 

OMT-101 	 15 



38. Sum of the number of faces, vertices and edges of a cube is 

(1) 26 
	

(2) 18 

(3) 14 
	

(4) 12 

39. Which of the following is a prime number ? 

(1) 51 	 (2) 23 

(3) 87 	 (4) 77 

40. Which of the following pairs of fractions are equivalent ? 

(1)  

(2)  

(3)  

(4)  

2 10 
5' 4 

3 9 
8 ' 64 

3 6 
4' 12 

4 72 
7 126 

41. Which of the following statements is not true ? 

(1) There are infinitely many prime numbers. 

(2) There are infinitely many rationals between 0 and 1. 

(3) If p is a prime number, then 5 is an irrational number. 

(4) Every prime number is an odd number. 

42. The value of (-1)339  x (_ 1)440 x 	1y  777 is  

(1) — 1 
	

(2) 0 

(3) 2 
	

(4) 1 

43. If E and F are two independent events, then which of the following is false ? 

(1) P(E I F) = P(E) 

(2) P(F I E) = P(F) 

(3) P(E n F) = P(E) . P(F) 

(4) E and F are mutually exclusive 
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38.  *rcb-a- 'ER 	Tb—e4, 	Iltil 311-t 1;11 1 kitvia 

(1) 	26 (2) 18 

(3) 	14 (4) 12 

39.  4A cni-i-Tfi T wsen ? 

(1) 	51 (2) 23 

(3) 	87 (4) 77 

40.  P11-1 c1(.1c1 -44 	-F4T-Al* Tir g(-,4 ? 

2 10 
(1) 

5' 4 

3 	9 
(2)  

8 64 

3 	6 
(3)  

4' 12 

4 	72 
(4) 

7 126 

41. (go 4 A chxli 3 	? 

(1)  311TmT t 

(2)  () 311-(1 4 31-4--du: 3T4 Tftkg 4t91R 	t 

(3)  ei qp 1  "al 4(911 t, 	5 13T:ft4-4 	t I 

(4)  •5r- 	3T1-7 %Erg kit9eu *et t 

42. 1)339 x 	1)440 x  1)-777 	t 

(1) - 1 (2) 	0 

(3) 2 (4) 	1 

43. zIREATFt ,(-cic11 1 	1I 	t, 	A c11-1-1:rr ariiwr 

(1) P(E I F) = P(E) 

(2) P(F I E) = P(F) 

(3) P(E n F) = P(E) . P(F) 

(4) E3TFWR 
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44. A coach chooses five starters from a team of 12 players. How many different ways are 
there to do this ? 

(1) 	12 ! 	 (2) 	5 ! 

(3) P(12, 5) 	 (4) C(12, 5) 

45. In case of compound interest, which one of the following holds ? 

(1) The amount for the first year becomes interest for the second year 

(2) The amount for the first year becomes principal for the second year 

(3) Principal for the second year becomes interest for the third year 

(4) Principal remains constant throughout 

46.  Given 57.13 x 2.1 = 119.973, what is 5.713 x 0.21 ? 

(1) 	119.973 	 (2) 	11.9973 

(3) 	1.19973 	 (4) 	0119973 

47.  The radii of two spheres A and B are in the ratio of 1 : 9. The ratio of the surface 
areas of A and B is 

(1) 	1 : 9 	 (2) 	1 : 81 

(3) 	81 : 1 	 (4) 	9 : 1 

48.  Temperature measured in units of Fahrenheit (F) and Celsius (C) is given by the 

relation F = —9 C + 32. Then 35° C is equivalent to 
5 

(1) 	105° F 	 (2) 	95° F 

(3) 	63° F 	 (4) 	19° F 

49.  The ratio of 4 minutes to 2 hours is 

(1) 	2 : 1 	 (2) 	1 : 2 

(3) 	30 : 1 	 (4) 	1 : 30 

50.  7  1 The reciprocal of (— 
2
— 	is i 

1 2 (1) 	(— 2)7 	 (2) 	(— 
7) 

( 1 
(3) (4) 	27 

2, 
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44. -R•-  ch)i 12 figzAtii 	tri:r 4 -4 ITN-  aTrig-- 	t I -zig *IR 1-*--T4t fa 	fq-FEPA 

chtn 	 ? 

(1) 12 ! 	 (2) 5 ! 

(3) P(12, 5) 	 (4) C(12, 5) 

45. ce11\71*:t -Prft 4 AIR 4 cr) 	(icti t ? 

(1) WIT qi i trqu% -WM 	ee4141 	 ' 

(2) SPT4 	WV% 	 iCsil0t7 W4 Ai 	it 

(3) fezf 	OM Alf 	eenzi 	t 

(4) TOW 	atd 	aTv( kt-11t 

46.  

47.  

48.  

49.  

50.  

t 57-13 x 2.1 = 119-973, 

119.973 

1.19973 

5.713 x 0.21 

(2) 

(4) 

3TIEIT5* A' I 

(2) 

(4) 

(F) 	14141(-1 

(2) 

(4) 

(2) 

(4) 

2) (2) 

(4) 

'47FT t ? 

11.9973 

0.119973 

31TITO 

5 C+ 32' 

"Reii 

(1) 

(3) 

TrziT 

(1) 

(3) 

t i'01 A 	B 

1 : 9 

81 : 1 

IT> 	1: A 311K B 

1 : 81 

9 : 1 

	 (C)* 4t9' 

95° F 

19° F 

1 : 2 

1 : 30 

(— 1
)2 

7) 

27 

T0:b71 

ciitii1H 

(1) 

(3) 

ffq.  35° 

HN Itr 

ardEFTff t 

C 	t 

105° F 

63° F 

at 2 

2 : 1 

30 : 1 

(1) 

(3) 

4 rifrld 

1,7 

(1) 

(3) 

(— 2)7  

1 )7  
— 2 
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